
FLAT MOUNT BRACKET
FOR KNOX KEYSECURE® 5 & 6 

1601 W. DEER VALLEY RD. PHOENIX, AZ 85027   |   T. 800-552-5669   |   F. 623-687-2290   |   INFO@KNOXBOX.COM   |   KNOXBOX.COM
OPE-ESYSLR-0335-D©Knox Company. All Rights Reserved

Knox recommends installing Knox KeySecure 5 and 6 using a Knox manufactured bracket. When 
mounting to a wall or panel, a flat mount bracket is required to mount a Knox KeySecure unit with the 
proper clearances for power and Ethernet connections.

FLAT MOUNT BRACKET SPECIFICATION
Bracket Material: Solid steel
Dimensions: 5-9/32" H x 3-7/8" W x 1-1/8" D
Weight: 3 lbs.
Finish: Black Industrial powder coating
Color: Black
Ordering P/N: KLS-FM 
Mfr’s Name: KNOX COMPANY

Also refer to Knox KeySecure 5 and 6 Quick Start Installation 
Guide for additional installation information.

MOUNTING DEVICE TO FLAT MOUNT BRACKET

2. Use the bracket as a template to mark drill holes into the 
    selected wall. Drill holes completely through the wall. 
    (Use a drill bit at least 17/64" in diameter, F size drill bit)
3. Align the KeySecure backplate and bracket against the 
    wall with all cabling routed through the cable channel. 
    Insert all of the ¼"-20 Grade 8 Hex head screws from the 
    back plate into the bracket, through the wall and washers 
    and tighten nuts to snug and Loctite.  
     Note: Proceed with caution. The screw heads may damage  
     the internal electronics board. 
4. Plug in the power connector and Ethernet cable, if used, 
    into the unit. Hook KeySecure onto the back plate, insert 
    both #10-32 x 2" length socket cap screws (provided with 
    KeySecure unit) and tighten to snug. Ensure a relaxed 
    tension on mounted cables.
5. Insert Tech Lock and stud into the KeySecure, tighten to snug. 
    Replace the Tech Lock cover and fasten with provided Torx screws.

1. Determine what length of ¼"-20 Grade 8 Hex head screw 
    will be needed (max head height of fasteners: 0.188") by 
    measuring the thickness of wall/panel. Due to installation 
    location variability, hardware is not supplied. Knox 
    recommends using at least:

(3) 1/4"-20 Grade 8 Hex head screws
(3) 1/4"-20 Grade 8 nuts
(3) 1/4" Grade 8 steel washers*  
*Do not place washers under hardware on the inside  
  of the back plate.

Refer to back page for illustration.

FEATURES
1-1/8" steel plate construction 
Black industrial powder coating
Vertical wall or panel mount

KNOX RAPID ACCESS SYSTEM
The Knox Company manufactures a complete line of high-
security products including KnoxBox key boxes, key vaults, 
cabinets, key switches, padlocks, locking FDC plugs, master 
key retention devices and more. For more information or 
technical assistance, please call Customer Service at  
1-800-552-5669.

Knox KeySecure® 5

Knox KeySecure® 6



D
et

er
m

in
e 

w
ha

t l
en

gt
h 

of
 1

/4
"-2

0 
G

ra
de

 8
 H

ex
 h

ea
d 

sc
re

w
 w

ill 
be

 n
ee

de
d 

by
 m

ea
su

rin
g 

th
e 

th
ic

kn
es

s 
of

 th
e 

w
al

l/p
an

el
. D

ue
 

to
 c

us
to

m
er

’s
 in

st
al

la
tio

n 
lo

ca
tio

n 
va

ria
bi

lit
y,

 h
ar

dw
ar

e 
is

 n
ot

 
su

pp
lie

d.
 H

ow
ev

er
, K

no
x 

re
co

m
m

en
ds

 u
si

ng
 a

t l
ea

st
:

(3
), 

1/
4”

-2
0 

G
ra

de
 8

 H
ex

 h
ea

d 
sc

re
w

s
(3

), 
1/

4”
-2

0 
G

ra
de

 8
 n

ut
s

(3
), 

1/
4”

 G
ra

de
 8

 s
te

el
 w

as
he

rs

ST
EP

 1

U
se

 th
e 

br
ac

ke
t a

s 
a 

te
m

pl
at

e 
to

 m
ar

k 
dr

ill 
ho

le
s 

in
to

 th
e 

se
le

ct
ed

 w
al

l. 
D

ril
l h

ol
es

 c
om

pl
et

el
y 

th
ro

ug
h 

w
al

l/p
an

el
 

(u
se

 a
 d

ril
l b

it 
at

 le
as

t 1
7/

64
" i

n 
di

am
et

er
, F

 s
iz

e 
dr

ill 
bi

t).
 

ST
EP

 2

Al
ig

n 
th

e 
Ke

yS
ec

ur
e 

ba
ck

pl
at

e 
an

d 
br

ac
ke

t a
ga

in
st

 th
e 

w
al

l
w

ith
 a

ll 
ca

bl
in

g 
ro

ut
ed

 th
ro

ug
h 

th
e 

ca
bl

e 
ch

an
ne

l. 
In

se
rt 

al
l 

of
 th

e 
1/

4”
-2

0 
G

ra
de

 8
 H

ex
 h

ea
d 

sc
re

w
s 

fro
m

 th
e 

ba
ck

pl
at

e
in

to
 th

e 
br

ac
ke

t, 
th

ro
ug

h 
th

e 
w

al
l a

nd
 w

as
he

rs
 a

nd
 ti

gh
te

n 
nu

ts
 to

 s
nu

g 
an

d 
Lo

ct
ite

. D
o 

no
t p

la
ce

 w
as

he
rs

 u
nd

er
 o

n 
th

e 
in

si
de

 o
f t

he
 b

ac
kp

la
te

.

ST
EP

 3

Po
w

er
 a

nd
 e

th
er

ne
t c

ab
le

 c
ha

nn
el

 m
ou

nt
ed

 
to

w
ar

ds
 w

al
l/p

an
el

 to
 e

as
e 

ca
bl

e 
be

nd
 te

ns
io

n.
Pl

ug
 in

 th
e 

po
w

er
 a

nd
 E

th
er

ne
t c

ab
le

, 
if 

us
ed

, i
nt

o 
th

e 
un

it.
 H

oo
k 

Ke
yS

ec
ur

e 
on

to
 th

e 
ba

ck
 p

la
te

 a
nd

 in
se

rt 
bo

th
 

#1
0-

32
 x

 2
” l

en
gt

h 
so

ck
et

 c
ap

 s
cr

ew
s 

(p
ro

vi
de

d 
w

ith
 K

ey
Se

cu
re

 u
ni

t) 
an

d 
tig

ht
en

 to
 s

nu
g.

 E
ns

ur
e 

a 
re

la
xe

d 
te

ns
io

n 
on

 m
ou

nt
ed

 c
ab

le
s.

ST
EP

 4

In
se

rt 
Te

ch
 L

oc
k 

an
d 

st
ud

 
in

to
 th

e 
Ke

yS
ec

ur
e,

 ti
gh

te
n 

to
 s

nu
g.

 R
ep

la
ce

 th
e 

Te
ch

 
Lo

ck
 c

ov
er

 a
nd

 fa
st

en
 w

ith
pr

ov
id

ed
 T

or
x 

sc
re

w
s.

ST
EP

 5

1601 W. DEER VALLEY RD. PHOENIX, AZ 85027   |   T. 800-552-5669   |   F. 623-687-2290   |   INFO@KNOXBOX.COM   |   KNOXBOX.COM
OPE-ESYSLR-0335-D©Knox Company. All Rights Reserved

M
O

U
N

T
IN

G
 D

E
V

IC
E

 T
O

 F
L

A
T

 M
O

U
N

T
 B

R
A

C
K

E
T

FLAT MOUNT BRACKET
FOR KEYSECURE® 5 & 6 


